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Instructions : Attempt all questions.

286 1 P.T.O.



1. (31) WUdIR fhH Had 8 2 378 89 a1 fohegl =R §TfHehieh IHTEl sl sard

BT IR GUAER o TF H 4wy | 142+2=5
(@) Hrey Uueh (FEE) w1 8 2 Nl Sl T8 T T I % IR RO Fq18T |
T48 1 ygd S g I 91 TRl IR %Al o ATH 9qTsy | 1+4+2=7

(a) What are weeds ? Name any four harmful effects of weeds. Also

write the names of four weeds.

(b) What is a crop nursery ? Give four reasons for raising seedlings
first in a nursery. Name any four fruit plants which are raised first

in the nursery through seeds.

2. fmafafea & s 9 fafge
(31) ITH-HN (fren=h) § fhgl 12 @@ 1Ead * M ey | 1 12=6

2
(@) T = 7 2 20, 30, 40 T 50 Ufaed g AR 1 & fow ufa forex
gt | ferat =i faer =nfgu 2 Siae wa 999 g <61 3trest aHE

fopaT BT =iET 2 1+2+1=4

(d) R Ud 9 SuH-HY (sfenfehn) st ginia Hie | smeeres
gfee 9, A1 # 9§ SH-E STH-HN (enfeht) 39 3 3R &= ? 2+2=4

(g) Torfem snenfasht o 2 2 fopfam 3o & fow S =8l = wati & 0
AT | 2424

Write about the following :
(a) Name any 12 business opportunities in horticulture.

(b) What is syrup ? How much sugar should be added per litre of
water to prepare 20, 30, 40 and 50 percent syrup ? What should be
the ideal syrup temperature for bottling ?

(c) Define urban and peri-urban horticulture. Commercially, which
among the two is better and why ?

(d)  What is kitchen gardening ? Name any four fruit plants suitable

for a kitchen garden.
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3.  QH weg H W foiRau : 1x10=10
() < TEEfe gfrersht % W fafaw |
(i)  oae ¥ 54 < Jeaadeh 3Gl o ATH ATy |
(iii) UPH®I g ?
(iv)  THTEX @l SR AW foafEm |

(v) 3| & Wi & gagq il waifoes JAuErE oW arell (Safaa) fafy
fafeT |

(vi) fTerfm €t & sifuerar at @ wai & W fafe |
(vii) wEl $a (sidept) i g dfesai o a9 foafee |
(viii) @ IciieR dfestai o I ferfay |

(ix) ¥SH o [hAN TH AT 31 Ui o A9 fARET |
(x) T i g fopemi o 9 fafee |

Write the answers in two-three words :

) Write the names of two chemical preservatives.

(ii)) Name two value added products from Aonla.

(iii) What is UPH ?

(iv)  Write the scientific name of tomato.

(v)  Write the most adopted method of mango-multiplication.
(vi)  Write the names of two Vitamin C rich fruits.

(vii) Write the names of two Brassica vegetables.

(viii) Write the names of two leafy vegetables.

(ix) Write the names of two avenue trees.

(x) Write the names of two rose varieties.
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Y91 o IR Tk e 1 ST (T/F) : 1x20=20

i)
(ii)
(i11)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(x)
(x1)
(xi1)
(xiii)

(x1v)

(xv)

(xvi)

T AT 1 9Rd § 9 FEd @ |
TR T AT % HRUT BT 3 |
HEHCE U T TYH g dTelt 9 I 919 FdTsT |
TrTST i 8 et gered § | (T/F)
qrsifRrm 1 e wT oft #Ed € | (T/F)
TR % diY w1 TE @ Sl /wEd # fehrern =i | (T/F)
ot Wl SIS T JHING & @ | (T/F)
TH ! T ¥ B A1 s 7 | (T/F)
o8 A @ % fore 31fd geiferd 7 |
&G I &4 % forg ! T B |
31 et it 7, foheg Seh Bt 2 |
Tk 3T foemt o g0 oA /Hesl] IREETOT hi +ed 7 |
TeTehe, U HETYd 3cd7g @ S g S § |
_ TE BEd ¥ T A yafia 9 8 B wwer gesft W faw ot

<k fohaT ST B |
iﬁq\aﬁm I JETiE Hd B |
Tie-mft § N HT BH-AT 9 Feoll T T H B 2

(xvii) ST WE-78 T 3 ?
(xviii) BATIRTT =T 8 2

(x1x)

(xx)

TS S arell gl B |
s Y dren 319 Fuffa oM 9@ s Im w HEATT 2 |

Give the answers of the questions in one word (T/F) :

1)
(ii)
(iii)
(iv)
(v)

Air layering is commonly known as in India.
Red colour in tomato is due to

Name the gas used in carbonated drinks.

Anthocyanin is water soluble. (T/F)

Parthenium is also called Congress weed. (T/F)
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(vi) Grape plants should be uprooted from the nursery in
January/February. (T/F)

(vii) Banana is multiplied through seed. (T/F)

(viii) Nursery beds are a little raised from the field. (T/F)
(ix) grass is very common for laying lawns.

(x)  Garlic is planted through

(xi) Jam is cloudy, but Jelly is

(xii) Preservation of fruits/vegetables using salt and vinegar is known
as

(xiii) Gulkand is a processed product obtained from

(xiv) is a very common weed in wheat crop which is used as a
leafy vegetable.

(xv) Citrus is generally propagated through

(xvi) Which botanical part is used as vegetable in knol-khol ?
(xvil) What is Dithane Z-78 ?

(xviii) What is malathion ?

(xix) Chow-chow is a seeded vegetable.

(xx) Any plant growing outside its proper place is known as a
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